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1010B (1 B (1 AA GeV) GeV) →→ 2He + H2He + H
QQ22αα =  87 =  87 kekeVV
QQ22ααpp =  35=  3522 kekeVV
ΘΘ22αα =  5.3 =  5.3 mradmrad

НуклотронНуклотрон, 2002 , 2002 гг..
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ИФВЭИФВЭ, , ПротвиноПротвино
1212C 450 C 450 AA МэВМэВ –– 3535 AA ГэВГэВ







2424Mg Mg →→ 66αα

2222Ne Ne →→ 55αα

1616O O →→ 44αα

1212C C →→ 33αα



160A GeV Pb160A GeV Pb

10A10A GeV GeV AuAu

1A1A GeV UGeV U



6He 807 ms

1212Be 23 msBe 23 ms

1212B 20 msB 20 ms

1010Be 1510000 yBe 1510000 y 1111Be 13.8 sBe 13.8 s

88Li 838 msLi 838 ms 99Li 178 msLi 178 ms 1111Li  8.5 msLi  8.5 ms

8He 119 ms

66Li 7.5%Li 7.5% 77Li 92.5%Li 92.5%

99Be 100%Be 100%

1010B 19.9%B 19.9% 1111B 80.1%B 80.1%

1212C 98.9%C 98.9%
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